Group-A
(Multiple Choice Type Questions)

1. Choose the correct alternatives for any tén of the following:
DIFA= abc +2 fgh—af* —bg? —ch’ then the equation ax? + 2hxy +by* +2gx+ 2 fy+e=(

represents a pair of straight lines if _
a) A>0 by A<O v¢) A=0 | d) none of these.

Scanned by CamScanner



C e malex -1 0 3 hskmiarﬁwntha-@hdlﬁ

A -3 0
2)0 - b4 7c)2 d) -1

@it A MuNMIMmkwmeﬂmmmamumwgbmmv
0 (A7) =(A"Y by A=Ayt (4)" =(a" )’ d) none of these

-j L 3 4
M) —(e")=
1

a) ¢ b) xe" o) ye d) none of these

v) Tho degras of the function f(x, y) = txm“'f- is
X

a) 1 b0 c)2 ¥'d) nons of these

meh«»mnd&i,lm‘!rh(ll ?]is !
iy -2 1 - 1(-1 2
) — b -~ e
¥ 3(‘1 ‘l) )[-1 1) ? 3(1 1] s e
vii] The valus of I = s
xlogx
a) loglxj+c vb) logllog+c ¢) xlogx}+e d) none of thess

vi) it @, ff and ¥ ba the roots of the equation X' +7x=2=0 then » o’ =
a0 b) 14 c)-14 vd)a

ix) Winch of the following is a m set?
a) A=10) b) A=(¢]
Yoy A=[x:ix is an integer & 1<x<2]  d)noneclthese
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2} The come ;zl—-ecmﬁ represerts a parabola if

aj £=1 8 el cj e<l d) none of these
1if) Weat @ e valus of e Sliowing fimit, lim(1 +x)"* 7
; e
ai tj e c)0 ' d) none of these

Group - B
{Shart Answer Type Questions)

x

7 5
2 Evaiate the integral [— 0% 4,
stinx+cosz

Sex Togic: DEFINITE INTEGRALS, Short Answer Type Question No. 3.
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$¥u=tam”* 27 ther show that du  du_1
» X——4 y— = —gj
{;1_4; % J'ay 4sm2u._

Sez Tapic: FUNCTIONS OF SEVERAL VARIABLES, Long Answer Type Question No. 3 AR

5. Scive the equation £-97 2145224 =0 o of whose roots are in the ratio 3 : 2
Ses Topic: FDLMMAWTWMMNO. 16. L
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) Slate Dovittes’ il of wlgn, Using s wle find the nature of the rool of the equation
\n,' TR PR B ERY |

1) fve the lul!nwinu syatem of linear equations by Gramer's nil;
Ve b Reslowd yehrs ) Ive yagsy,

o 1ty & tianslonmation ol teclangular axle 1o ancther with same ogin the expression wx+ by
changes L u‘.\'-t !.")" y Prove thal (IJJ 4 b'“' P "“ " h'l LA

o See Toplet FOLYNOMIAL, Lot Awswar Type Question No, 10,

b) Bee l'upi\'l MATRICES, Long Answer Type Quentlon No. 12,

A See Tople: TRANSFORMATION OF CO-ORDINATES, Long Answer Type Question No. 1 1.

& a) 1 G be a group auch that (ub)’ w a*l'Va, be G, show that the group G I Abelian,

Of | 4 n
) Show that I (‘ r—— g log 2,
bt

Aty e tsiny, thon show that y, +dy= (),

) See Topic: BINARY COMPOSIUTION, Short Answer Type Question No, 6,
b See Topler DEFINITE INTEGRALS, Short Answer Tygpe Question No, 10.
o) See Tople: SUCCESSIVE DIFVERENTIATION, Short Answer Type Question No. 9.

-2
2 | Is orthogonal and hence find A™ .
|

-1
9. a) Show that the matrix An-li -2
12

N - 2

) ‘ ]
b) It r\=( ll Ll) . then show that A® =241, = 0, Hence obtain A™' and also find A",

¢) Raduce the lollowing equation to the canonical form and determine the nature of the conic
represented by it 8a° =12xy+17y* +16x=12y+3=0,

2) & b) See Topie: MA’I‘RICES..I.ung Answer Type Question No, 13.
¢) See Topic: GENERAL EQUATION OF SECOND DEGREE, Long Answer Type Question No. 1.

10. a) Solve the equation x' —3x% +12x+16=0 by Cardan's method.
b) Prove that (Ax B) (CxD)=(ANC)X(BND),

c) It @, A,y are tho three roots of £ + px® +gx+r=0, obtain the value of Z (a~p/?.

— [
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a) See Topic: POLYNOMIAL, Long Answer Type Question No. 11.
b) See Topic: SET THEORY, Short Answer Type Question No. 7.
c) See Topic: POLYNOMIAL, Long Answer Type Question No. 6.

" 11. a) State Rolle’s theorem. Examine whether Rolle’s theorem is applicable or not for the functior

f)=1-|x-1|, vxe[0,2].
| . Ju ou

b) If u= l+—z-+£ , then prove that xg-li+ Yoz~ 0.
zZ x Yy : Ix ~dy oz

¢) Find for what values of x, the following expression is maximum and mi
25 —21x* +36x—20.

2) See Topic: EXPANSION OF FUNCTIONS, Short Answer Type Question No. 8.

b) See Topic: FUNC’ITONS OF SEVERAL VARIABLES, Long Answer Type Question No. 4.

c) See Topic: MISCELLANEQUS, Long Answer Type Question No. 2.

nimum respectively:
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